oS 5 Ao 1do R &2 2 A9
@D 0.363636--- = 0.36 @2.456456~ = 2.456
® 0.053053053--- = 0.053 @ 1.2777---=1.27
(3 0.342342342--- = 0.342

@ 2.456456 - - - = 2.456




BT Sogg & =aATE HEHLE o, &4 10084 2Fe ] S22
= Fsjole}

> =

D> 3E: 5

12344
9999

100 = 4 = 250] B & 42 100 A ZH2] 9] S:421= 5

= 1.2345




3. OEFx=12132 BFE Ushlis IgolA Zagh Ad2?

@ 1000x — x (@)1000x —10x ® 100x — 10x

@ 10000x — 100x ® 10000x — 10x

1000x — 10x = 1261







o <E7]> oA fetasrt B g BE 12H?

27]
Q@ 3.65 © 0.38888
® 0.325 ® g
@ 1.010010001 - - @ g
ORON® CRONE ®)0,©, ®
CEONC) ONGNCNG)

427 ot o] g o] obd A7} G Ql Ado]ng







(S
—

& A5 UEhd o, Sauh L

@® 636 @ 6362 ® 60 @®)63 ® 620
1 ..

51 =4.63

11




D 1.8 @ 1.08 3 1.83

@1.83

® 1.803

11+ 6 =1.83333--- = 1.83




o TS B4R ERfE?
2.124
701 703 707 701 709

. 2124-21 2103 701
2104———= == —




the 42 2e 23 A2 158 At

@ 3.1421 © 3.141

© 3.1412 ® 3.139

i

it

0
o

v Vv vvyvVYyVvYyy
o oX
m ol

@ 0O ©O ®

0
m

33.14212121 - - - ©3.14111111 - - -
@3.139999 - - -
3.139 < 3.141 < 3.1412 < 3.1421

©3.141212- - -




11. 043-0.155 AAXstA?

® 0.2 (@)0.28 ® 0.28 @ 0.38 ® 0.208

.. .. 43 15 28 -
4 — ]_ = — = — = — = .
0.43 -0.15 9 " 99 — 99 0.28




e

R

o

09

79] Hj4o] ofof

=
—

C@)a:ﬂ,b:lo

@ a=21,b=T7

bol A W, a, bl 3k
7} §3tAo| B R ¢

°

a
2X5XT

o} a7} 30 ©]

1
70

® a=10, b=21

®a=7b=10
® a=14, =10

~&B

o

O|B2 q=3x7=21, b=2x5=10

™M

2471

o

sLa=21,b=10




13.

X

x=038,y =029 0, =9 e ¥LFE Yetein
y

® 2 )3 ® 4

@ 5

ok

. 38-3 7
—038=2""°_"
* 90 18
.21 7
—09i=2 L
Y 99 _ 33
7
7§33 11

5o = =—=—=183
y 7 18 6

33
watA] &gnt s 3ot




@9 3)15 @ 18 2

®s

o2 of A% 9] o]

34
5%X9




® 60 @ 90 )99

@ 15

~&B

1.26

o,
wakA 4 9] ko] | 4 gl AL 5, 9901tk

5




24F Uetuoj e,

— |

®0.1+08




17.

— o2 2 222 = 9gtageo]W A, Avt okl
457 457 457 s 457 45 Toﬂi‘l'r’ —l_] :I OT}- ]—

® 47 @)187H 3 2271 @ 6270 ® 6671

n n
45~ 3%7x5
A, ot A4t = A ot n-2 45 9] i4E 470t
kA 22 - 4 = 1870t}

o] §as7t H7 She e 99 Wisolmz 22




18.

1 1 1 1 1

= Zo|| A SotASE W o
117 12’ 137 ’98’ 99 ——(.)—-Oﬂ -]‘IT‘ T 1/]—];'—1-:'.—'_ AN
g Tsfolel.

> E: %l

Tote = F AR AASE F 24, 5,25 x5 9 BE 4
S =l= solth.

2* Bol = x =4, 5, 6Y W] 37

5 &l £ y=2%d uo] 17

2°x 5 E3 A=

y=1<4d W x=2, 3, 49] 37}
y=2¢ W x=19 174

- 87N

AN
A==

S




A A2 0] 571 3 9

tolet. (&, a > 6)

<]

2 by 2

), A% a ol @

?_

L5

O
=

16

.

ul

A

20

e

ul

7 242 427} 30|82 0.30]4 0.41]

A

A
T




20.

4, )
=>4 A ], 10%x — x &] 3k Fotoiet.
> E:
[> HE: 571428
4
B = 0.571428571428 - -- ©| 1L
06x = 571428.571428 --- 0|22

106x —

x = 571428 o]t}




